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MATH 131
Test I
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1. Find the following integrals: (20} S af
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2. Sketch the graph of f(x) = x¥ + 4x% + 15, Gives ranges. Find exactly (if anﬁ:
a. x-y coordinates of relative maxima and minina. (18}

b. x-y coordinates of points of inflection.
c. imtervals on which the function is increasing. decreasing.
d. intervals on which the graph is concave up, concave down.
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3. Find the area of the region bounded by the curve y = x9, the x-axis, and x = -2, x = 2.
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4. The gravity on the moon is 1.6 m/sec/sec downwards. [f an object is tossed
upward with a velecity of/18/mssecr— (123
a. What is the velocity 2 seconds? e L
b. What is the maximum height attained? S b
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5. A corral is to be built with an inner fence as shown. The total area has 1o be 300
sq. f1. What dimensions will use the least amount of fence? (10)
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6.

The edges of a cube are changing at the rate of 2 in./min. when the edges are 10in
{10)

long. How fast is the voclume changing?
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7. Find —= where 4x? -3xy + y® - cos y = (8)
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8. Compute j
using antiderivatives and the Fundamental Theorem (i.e. the easy way)
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b. using the definition {by forming 8RRy and then taking the limit as n - o)
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